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1) Explain how the train below is able to float and move using magnetism
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2)     a) Name 2 ways that you can turn an iron nail into a magnet

    b) Describe 3 ways that you can destroy a magnet

    c) Describe two ways that you can show the magnetic field around a magnet

3)     a) Describe how to make an electromagnet from a nail, battery and wire

    b) Why is an electromagnet used in car scrap yards?

    c) give 6 uses for an electromagnet

4) Which way will the wire move in each of these "motors" (hint use Flemings hand rule)
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4) Using the diagram below explain how an Alternating current is produced from a generator
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6)       a)What is the symbol shown below?

      b) what does it do?
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c) Describe what the component above does in the following 2 circuits

i)                                                             ii)
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7)

a) A Transformer has 2000 turns on it’s primary coil. The voltage supplied to this coil is 240V. How many turns are on the secondary coil if the voltage on it is 48V?

b) Draw a diagram of what this transformer might look like.

c) What sort of Transformer is it?

d) Explain why it needs an AC voltage to work.

e) calculate the number of turns on the secondary coil of the following Transformers
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8) The leaning tower of Pisa is 45m high. A mass of 4kg is dropped from the top calculate

a) The Potential energy at the top of the tower

b) The Kinetic energy a fraction of a second before it hits the ground

c) The velocity a fraction of a second before it hits the ground

d) A ball bearing of mass 1kg is dropped from a height of 1m describe what happens to it's potential and kinetic energy at the three points shown
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